EARAZROREIERT — 2 N—XBISY —F 20185FE6H26H (k) 7EI£R2H

m%‘}Riﬁﬁﬁé‘ (hRZH) IR (w8 | imEmml - |5 5) som 8
[AE4£] 1 7% :800,000 " ~ 237%&:184,000  ~ 33#&:96,000H ~ 43#&:72,000™ . 5 3&:48,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N B . ERELT .34 1-1- . — SROIER] (shsk)
lalgld-747—¢ > 5 | BER 1(3_4)7 1-1-1-1 | 39.3 3 (454) EOL
QivYULTyA BiavEAL BEZ &Y K
e WERE :35. —6-1- . — A ()
5 5| FHSLyTA— # 3 | B (12315/22) 7-6-1-2 | 39.3 1 (4+873) i
R:F1—TTUF>T BHYrI/4->22 ESliEe
e . 4 _ HR (hR)
slglg | #E1H17 o4 | BB 1.(34&‘3.1 4-4-4-4 | 40.2 6 (5:)57) i
T —TANA BiT7AxF-L PR=HF T — L
al7l7| Z7VESLHF K= % 4 | ZHR 1:(326).5 5-5-4-5 |40.5| — | 4 ;1_3; igg;ﬂ&)
LAYy 7F—2) B:7oaSN—k 2RSS
. : 4 5 | SHESH 1:36.5 3-2-1-3 | 40.9| — 2 479 | BREHE= (hR)
5/5|5 J14>7 LK 57.0 (74%) (-03) | BB 1>
LNNLVLTSY BxUI Raitie]
. S = IRIHHR :37. -9-9— . = FlHEZ (£R)
6111 A FTaIbT i 7 57.0 1?(57)8 5998 | 395 ’ (4_476) IMETER
R:THr—T14F4F—-Y%> B:UsTr7—Fz FARBRER A5
N e BEMALA : -8-7- — AR (PR)
7 6| ¥—Tharx— o3| BE (11318/2') M R ! (ﬁg) ThtiE
R:TYUSTyk BiFrU-TOyYL BEA] 14
8 4| RHAS T 2NG LA 'sklgﬂafﬁl 1:(318).3 6-7-8-8 | 40.7 | — 8 473 %g%%: (&R)
LA =L BFRUT NG R
> 3 - 44 | REKA 1:39.6 2-3-4-6 | 43.7| — 5 478 | HARR (£R)
gl 3| ¥ *INI=R 57.0 ® Gay | B Tr-XpETa>
LTANVNTTFY— B XTI ALY EvILy RT7—L
® I—F—@EBIERL
13—7+— 8,3,5,9,7,4,2,6,1
Ao=5"= 8,5,3,9,7,2,4,6,1
T =35r= (2,5,8),(3,7,9),6,4,1
41—F— 8,2,5,9,7,3,6,(1,4)
[ RN
B 8 570M 794K 2-8 220M & 2-8 280M &R 2-8-9 2,010/
# B 8 170 8-9 720 B 8-2 1,220M EE 8-2-9 8,910/
2 130 2-9 340M B = 2-8 510M
9 210M B H 8-2 1,800

ABICOVWTRDTEEERROODE. TR LIV,



